T D L S E N AIR COMPRESSOR 1Hp 800W | 73135

Part| Description Qty | Part| Description Qty

1 Crankcase 1 33 Screw M5 2
2 Crash pad 4 34 Fan blade 1
3 Nut M6 4 35 Crankcase 1
4 Screw M8 2 36 Stator 1
5 Crank 2 37 Bearing 2
6 Bearing 2 38 Rotor 1
7 Connecting rod 2 39 Globe valve 2
8 Screw M5 2 40 40meter 1
9 Fan blade 1 41 50meter 1
10 Circlip 4 42 Safety valve 1
11 Screw 2 43 Pressure switch 1
12 Wind scooper 2 44 Twin adapter 1
13 Packing leather 2 45 Air-vent valve 1
14 Gland 2 46 Check valve 1
15 Screw M6 2 47 Tube 1
16 Cylinder 2 48 Solenoid 1
17 Seal 2 49 Check valve 1
18 Screw 2 50 Gasholder 1
19 Pressing plate 2 51 Blowdown valve 1
20 Valve block 2 52 Trundle 2
21 Valve plate 2 53 Nut 2
22 Pressing plate 2 54 Axle 2
23 Pressing plate 2 55 Nut 1
24 Screw 2 56 Screw 1
25 Seal 2 57 Rubber foot 1
26 Silencer 2 58 Capacitance 1
27 Cylinder head 2 59 Capacitance box 1
28 Screw M6 8 60 Power line 1
29 O-ring seal 4 61 Gasket 1
30 Pipe 2 62 Deflating valve 1
31 Elbow 1 63 Handle 1
32 Screw M6 2




T D L S E N AIR COMPRESSOR 1Hp 800W | 73135




